Object Calisthenics

Refactoring in practice



Starting point

public class ProcessorFactory |
| privene Feesssrracren() | * A huge switch -> a lot of hidden elses

I public static ProduktProcessor getProcesscr(final String produktNr) {
ProduktProcessor processor = gebtKVProcessor(produktNr);
if (processor != null) |
return processor;
1
processor = getFRVProcessor(produktHr) ;
if (processor !'= null) |
return processor;

}
throw new NotlmplementedException("Fir Produkt mit Nummer: " + produktNr + " existiert noch kein Processor™):

private static ProduktProcessor getEVProcesscor({final String produktNr) {
FachlicherSchluesselVerkaufsproduktEV fachlSchluesssel = FachlicherSchluesselVerkaufsproduktEV. fromValoe (produktNr) ;
if {fachlSchluessel == null) |
return null;
}
switch (fachlS3chluessel) |
case KUR PFLEGE:
return new KurPflegeProcessor():
cage SPITALTAGGELD:
return new SpitaltaggeldProcesscr();
case SPITAL MYFLEK:
return new SpitalMyFlexProcessor():
case AMBULANT MYFLEX:
return new AmbulantMyFlexProcessor();
case AMEULANT SANAGATE:
return new AmbulantSanagateProcessor():




Step 1: Replace switch with ma

public class ProcessorFactory [
ate static final Map<FachlicherSchluesselVerkaufsproduktEV, ProduktProcessors
private static final Map<FachlicherSchluesselVerkaufsproduktFRV.AVB2Z01lE,

 Two maps as instance variables

public ProcesscrFactory() {
setupKVMap () ;
setupFRVMap () 7

} * Replaced static method by regular

pukxlic ProduktProcessor getProcessor(final String produktNr) | methOd
ProduktProcessor processor = getEVProcessor (produktNr):
if (processor '= null) {
return processor;

}

processor = getFRVProcessor (produktlr) » o Sti” 200 Iines Of COde
if (processor '= null) {

return processor;
}

throw new NotlmplementedException ("Fir

" + produktNr + ™ existi

e Used abbrevations

}
private ProduktProcessor ge al String produktHr) {
FachlicherSchlueszsselVerkaufsproduktEV fachlSchluessel = FachlicherSchluesselVerkaufsproduktEV. fromValue (produktlre)
if (fachlSchluessel == null) |
return null;
Map.get({fachlSchlusssel);
3

vate ProduktProcessor getFRV inal String produktlr) {

FachlicherSchluesselVerkaufsproduktFRV.AVB2016 fachlSchluessel = FachlicherSchluesselVerkaufsproduktFRV.AVB2016. fromValue (produkt
if (fachlSchluessel == null) {
return null:

Mzp.get (fachlSchlusssel);

new BurPflegeProcessor());
new SpitaltaggeldProcessor()):
new SpitalMyFlexProcessor{)):

.put (FachlicherSchluesselVerkaufsproduktKv.

.put (FachlicherSchluesselVerkaufsproduktEV.




Step 2: Remove superfluous code

public class ProcessorFactory |

static
private static

al Map<FachlicherSchluesselVerkaufsproduktKV, ProduktProcessor> prod
final Map<FachlicherSchluesselVerkaufsproduktFREV.AVB2016, ProduktProcessor> produl

TR e querying the map with a null value

setupEVMap() ;

setupFRVMap () ; returns nU” _> Ok

public ProduktProcessor getProcesscor(final String produktNr) {
ProduktProcessor processor = getEVProcessor (produktNr);
if (processor != null) {
return processor;

}
processor = getFRVProcessor (produktlr) »
if (processor != null) {
return processor;
}

throw new NotImplementedException ("Fir " + produktlr + " exi

private ProduktProcessor ge Processor (final String produktNr) {
FachlicherSchluesselVerkaufsproduktEV fachlSchluessel = FachlicherSchluesselVerkaufsproduktEV. fromValue (produktNr) ;

p.get{fachlSchluessel) ;

private ProduktProcessor getFRVProcessor(final String produktNr) {
FachlicherSchluesselVerkaufsproduktFEV.AVB2016 fachlSchlusssel = FachlicherSchluesselVerkaufsproduktFRV.AVB2016. fromValus (produktir)

return produktFRVProcessorMap.get (fachlSchluessel);

.put (FachlicherSchluesselVerkaufsproduktEV.
.put (FachlicherSchluesselVerkaufsproduktEV.
p.put ({FachlicherSchluesselVerkaufsproduktEV.
.put (FachlicherSchluesselVerkaufsproduktEV.
.put (FachlicherSchluesselVerkaufsproduktEV.
p.put {FachlicherSchluesselVerkaufsproduktEV. ALT

new KurPflegeProcessor()):

, new SpitaltaggeldProcessor{)):

, new SpitalMyFlexProcesscor());

new AmbulantMyFlexProcessocr());

w AmbulantSanagateProcessor());
LlternativMyFlexProcesaor()):




Step 3a: Extract collections in own class

pitlic class EVProcessorFactory |
private static final Map<FachlicherSchluesselVerkaufsproduktkV, ProduktProcessor> processorMap = new HashMap<>();

puklic EVProcessorFactory() |
setup();

public ProduktProcessor lockup(FachlicherSchluesselVerkaufsproduktEV fachlSchluessel) |
return processorMap.get{fachlSchluesael):

private woid setup() {
processorMap.put (FachlicherSchluesselVerkaufsproduktEV. KUR FFLEGE, new EurPflegeProcesscr());

processorMap.put (FachlicherSchluesselVerkaufsproduktEV. SFITALTAGSELD, new SpitaltaggeldProcessocr()):
processorMap.put (Fachlicher3chluesselVerkaufsproduktEV. SFITAL MYFLEX, new SpitalMyFlexProcessor())r

processorMap.put (Fachlicher3chlusgselVerkaufsproduktkEV. AMEULANT MYFLEY, new AmbulantMyFlexFrocessor()):
processorMap.put (FachlicherSchluesselVerkaufsproduktEV. AMBULANT SANAGATE, new fmbulantSanagateProcessor())r

processorMap.put (FachlicherSchlussselVerkaufsproduktkEV. ALTERNATIV MYFLEX, new AlternativMyFlexFrocessor()):
processorMap.put (FachlicherSchlussselVerkaufsproduktkV. SFITAL SANAGATE, new SpitalSanagatePFrocessor());
rocessorMap.put (FachlicherSchluesselVerkaufsproduktEV. ALTERNATTY SANAGATE, new RlternativSanagateProcesscr()):
rocessorMap.put (FachlicherSchluesselVerkaufsproduktEV.ALTERNATIVR], new Alternativ0lProcesscr()):r
processorMap.put (FachlicherSchluesselVerkaufsproduktEV.C55 STANDARD, new StandardversicherungProcessor()):

L5

]|
-

processorMap.put (FachlicherSchluesselVerkaufsproduktEV.NOTFALL, new NotfallversicherungProceascre()):
processorMap.put (FachlicherSchluesselVerkaufsproduktEV. ZAEHNPFLEGE, new ZahnpflegeProcessor()):

processorMap.put (FachlicherSchlussselVerkaufsproduktEV. ZARNFFLEGE SANAGATE, new ZahnpflegeSanagateProcesscor()):
processorMap.put (FachlicherSchluesselVerkaufsproduktEV. DENTA, new DentaProcessor());




Step 3b: same for FRV map

pilblic class FRVProcessorFactory |
private static final Map<FachlicherSchluesselVerkaufsproduktFEV.AVB201l&, ProduktProcessor>» ;:Irucessurﬂap = new HashMap<>({):r

public FEVProcessorFactory({) |
setupFEVMap () ;

public ProduktProcessor lockup{FachlicherSchluesselVerkaufsproduktFRV.AVB201le fachlSchluessel) |
return processorMap.get (fachlSchluessel);

private wvoid setupFBEVMap() |
processorMap.put (FachlicherSchluesselVerkaufsproduktFEV.AVB2016. HEILUNSSREOSTEN, new FrvProcessor()):
processorMap.put (FachlicherSchlussselVerkaufsproduktFRV.AVB2016. FERSONENASSISTANCE, new FrvProcessor()):
processorMap.put (FachlicherSchluesselVerkaufsproduktFRV.AVB2016. AUSLANDRECHTSSCHUTE, new FrvProcessor()):
processorMap.put (FachlicherSchluesselVerkaufsproduktFRV.AVB2016.REISEGEFARCK, new FrvProcessor()):
processorMap.put (FachlicherSchluesselVerkaufsproduktFEV.AVB2016. ANNULLIERUNGSRKOSTEN, new FrvProcessor()):




Step 4: Replace abbrevations

public class ProcessorFactory |

EVProcessorFactory kvProcessorFactory = new EVProcessorFactory(): C CIaSS |S now Iess then

FEVProcessorFactory frvProcessorFactory = new FRVProcessorFactory () Zl() r
ines

public ProduktProcessor getProcessor(final String produktNummer) |
ProduktProcessor processor = getEVProcessor (produktNummer) ;

if (processcr '= null) | ° H
return processor; Abbrevat|0ns
: eliminated as usefull
processor = getFRVProcessor (produktNummer) ;
if (processcr '= null) |
return processor;
}
throw new NotImplementedException("Fir Produkt mit Nummer: " + produktNummer + ™ existiert noch kein Processor™):

private ProduktProcessor getEVProcesscr({final String produktNummer) |
FachlicherSchluesselVerkaufsproduktEV fachlicherSchluessel = FachlicherSchluesselVerkaufsproduktEV. fromValos (produktiurmmer) ;

return kvProcesscrFactorv.lookup (fachlicherSchluessel):
private ProduktProcessor getFEVProcesscor({final String produktHummer) |
FachlicherSchluesselVerkaufsproduktFEV.AVB2Z016é fachlicherSchluessel =

FachlicherSchluesselVerkaufsproduktFEV.AVB201lE. fromValus (produktNurmer) ;

return frvProcessorFactory.lockup(fachlicherSchluessel);




Step 5: Use Set instead of Map

import static ch.css.produkt.keyv.utils.impl.enumeration.FachlicherSchluesselVerkaufsproduktFEV.AVB2016.%;

 Map not needed only one
public class FEVProcessorFactory | return Value

Use static import to make it

private static final Set<FachlicherSchluesselVerkaufsproduktFRV.AVB2Z016> supportedFRVs = new Hash3et<>();

public FEVErocessocrFactory() |
gstup()

public ProduktProcessor lockup{FachlicherSchluesselVerkaufsproduktFEV.AVB20le fachlicherSchluessel) |
if {supportedFRVs.contains {fachlicherSchluessel)) |
return new FrvProcessor():

}

return null;

private wvoid setup() |
supportedFRVs.addhll (Array3.aslhist(
HEILUNGSKOSTEN,
PERSONENASSISTANCE,
AUSLANDRECHTSSCHUTE,
REISEGEFPAECK,
ANNULLIERUNGSKOSTEN




Open Issues

* A lot of instances are created for the map
* Possible solution with Classes: instead of

Map<FachlicherSchluesselVerkaufsproduktKV, ProduktProcessor> use
Map<FachlicherSchluesselVerkaufsproduktKVv, Class<? extends ProduktProcessor>>

and return .curnstancen Of Class
* Wrap produktNummer?

* Own combined enum?
* Replacement of static member getProcessor correct?



